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Name: ______________________
	1.
	Number of heads

Number of times occurred

0

4

1

12

2

11

3

3

Total

30

The table alongside shows the results when 3 coins were tossed simultaneously 30 times.  Calculate the:

a.  mode

b.  median

c.  mean.
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Sometimes it is useful to know the number of scores that lic above or below a particular
value, In such situations we can construct a cumulative frequency distribution table and
use a graph called an ogive or cumulative frequency polygon to represent the data.

Tools

footballers.

distribution table;

"1 median weight

than 92 kg.

b Represent the data on an ogive.
(3 Use'ymnr graph {o estimate.the:

The data shown gzm the weights of 120 miale

a ' Construct a curnulative freqncl\cy

 ‘number of men weighing less than 73 ke
it number-of men weighing more

Weight (w kg) | Jrequency
55 < w < 60 2
60 <w <65 3
65 <w<70 12
TO<w <5 14
75 < w< 80 19
80 w<8s 37
8B<w<90 22
90 <w <95 8
95 < w < 100 2
100 < w < 105 1
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5 Weight (w kg) | frequency
55 <w < 60 2
60 < w <65 3
65 <w< 70 12
0L w<T5 1
75 < w <80 19
80<Kw<85 |- 37
85<w< 90 2
90 <w< 95 8
95 < w < 100 2
100 < w < 105 1
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ii; ‘Note: “The cumulati
120 frequency gives a

total of the
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» Export PDF

v Create PDF

Adobe CreatePDF

Convert fes ta PDF and sasly combine.
them with other il types wih a paid
subscrption.

select Fle

» Send Files




This histogram illustrates the results of an aptitude test given to a group of people seeking positions in a company.

a.  How many people sat for the test?

b.  Find an estimate of the mean score for the test.

c.  What fraction of the people scored last than 100 for the test?

d.  If the top 20% of the people are offered positions in the company, estimate the minimum mark required.
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55 < w < 60
60 S w <65
65 <w< 70
T0<w< 75
75 < w <80
80 <w <85
85<w< 90
W0<w<95
95 < w < 100
100 < w < 105

‘median A% 81.5

cumulative
frequency

50
87
109
117
119

110
veight men who weigh' motc

This is' 24 3,
B Thig is 243 +12:
7 This 50 means il here :
L7 are 50 plagers who weigh

Tess than 8O k.-

‘Note: ‘The cumulative
frequency gives a
runninig total of the

siumber of players up -
to certain weights.

¢ . The median is estimatod
using the 50th percoritile:
As 50% of 120 = 60; we.
start with the cumulative
frequency 60 and find the
" corresponding weight.
__So, the median ~ 81.5.
W “There are 25 men who
weigh less than 73 ke.
Wl There are 120 = 112 = §

than 01.3 kg.

Heights of scedlings
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Read about Cumulative Data on the next page.

	3.  
	A botanist has measured the heights of 60 seedlings and has presented her findings on the ogive alongside.

a.  How many seedlings have heights of 5 cm or less?

b.  What percentage of seedlings are taller than 8 cm?

c.  What is the median height?

d.  What is the interquartile range for the heights?

e.  Find the 90th percentile for the data and explain what your answer means.


	
	
	

	4.  
	a.  Name the three methods for representing single variable data used on this worksheet.

Table histogram and ogive
b.  Name three more methods for representing single variable data.

Scatter plot, etc

	
	
	

	5.
	What do a histogram and an ogive have in common?  What is different about them?

Frequency y and variable x,  


	6.
	Label each problem on this worksheet (1-3) as having discrete or continuous data.

Practice)
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Answers: 
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	Answers

	
	1.
	a.
	1

	
	
	b.
	1

	
	
	c.
	1.43

	
	2.
	a.
	125 people

	
	
	b.
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marks

	
	
	c.
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	d.
	137 marks

	
	3.
	a.
	9

	
	
	b.
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	c.
	7 cm

	
	
	d.
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cm

	
	
	e.
	10 cm, which means that 90% of the seedlings have a height of 10 cm or less.

	
	4 – 6:
	In class
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